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GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGG - SEMESTER - VI « EXAMINATION - SUMMER- 2017

Subject Code:3362902 Date:04-05-2017
Subject Name: MODERN WEAVING TECHNOLOGY
Time: 10:30 AM TO 01:00 PM Total Marks: 70

Instructions:

Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.
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Q.1 Answer any seven out of ten. €20l SlEUBRL Ulclotl scllol UL, 14
Write any four advantages of shuttleless loom.

ASH-AU CGHoll S8 URQL UR SIRAELA AW,

Explain four features of projectile weaving machine.

YwseleSel cllor Hallotoll 2 vullaidl eseul.

Name the weft insertion system in which weft is transferred in: (a) Tip form
(b) Loop form

w o N ~oE

3. 56 Ase BatuRet YReHMl Age: (a) 2lu Sl (b) qu SLinl
2lo % AU B?

4.  State two difference between water-jet loom and Air-jet loom.

¥, dleR-%2 uA AUR-%2 GH Aol B cdAglald AL,

5. What is the pH level of water in water-jet loom?

U dleR-Be (HHL Wille pH Add 32¢f &lg KA A eeudl.

6.  Write down different types of projectile along with its dimension.

S, UwselSell Usl? ol dell MU eudl.

7. What is the speed (in m/s) and weight (in grams) of projectile in projectile
loom?

9. Ueselclo(l 35U ual cloget ULl

8. What is the noise level (decibel) for: (A) Air-jet loom; and (B) power loom.

C.  AR-F2 U UWAR HHL dlule of YHIgL Ul

9.  Mention the speed range in RPM of: (1) Air-jet; (2) Water-jet; (3) Rapier; (4)

Projectile loom.
¢c. QA Us 2% RPM Hi QUL (1) Air-jet; (2) Water-jet; (3) Rapier;

(4) Projectile loom.
10. A Projectile loom having loom width is 190 cm. Calculate how many
projectile are required for picking operation?

0. A5 UBsSTA M ol (i (A5 190 cm B A A UBs2SAH MUl Sl
UBs2lSA B SA?

Q.2 (@) Explain sequence of weft insertion in projectile weaving machine. 07
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st dlclor Hallotui Age ysaloll s1 e ugld €131

Aol

OR
Explain torsion bar picking mechanism with a neat sketch.

2Rt iR Ulslot HlBellosnt 2269 sl €131 umostAl,
Explain beat-up mechanism of sulzer projectile loom with a neat sketch.
Yo ¢ioll olle-uu UlEe{losnt e vugld €131 Al

OR
Explain construction and working of confusor in air-jet machine.

§5 R of 50252l Wal aAslol AU

Explain different types of selvedge formation in shuttleless weaving.
A AU GHHL HEL-YEL USIR ol AcA% glHalel UMl

OR
Explain quality of air in Air-jet loom.
AR-%2 G Ui AR ol dfatalctl 1A Anesal.
Explain the passage of warp in Air-jet loom with a neat sketch.
AR-92 GHHL Al oll NARS 2cl2e9 LA WA UMl

OR
State the essential requirements for successful weft insertion in Air-jet
weaving.

A-P2 GHUL ASN Al Yds Age Ysall H2 33| Alclas A
ogRILcll.

Explain any two latest developments of : (1) Winding; (2) Warping; (3) Sizing
eSS 1oL, AL A ULETAIL £35 oll UL A AR SAAURNR

AHosL Al

OR
Explain warp-way Multiphase weaving machine with a neat sketch.

QU-A 11 ¥ (Aot Hallot 29 vusld 131 UMl
Explain principle of Tri-axial weaving with a neat sketch.
gla-Aeflact (Aldal ol Rvuic 2wy usld €131 unstal.

OR
Explain Garbler weft insertion system with a neat sketch.

AR Ase SetuRelel YleH w9 Lsld €131 Al

Explain water quality in water-jet loom.
cl2R-82 GHUL dlerell sal@él (A Amendl.
Explain water-jet picking mechanism in water-jet loom with a neat sketch.

cleR-%2 GuHl dler-B2 Ulslol HlFa{losu ey augld €131 Al

*khkkkkhkhkhkkkkkik

212

09

07
09
07
09

07
09

07
09

07
09
07
09

07

09

09

07
09
07
09

07
09

06
0s
08
(0]4



